
                 
 2507 HOWARD LANE, AUSTIN, TX 78728  
 WWW.LIGHTPARTS.COM 

Exterior 200 LED Parts List

Item Description
05020010 Fuse 2.5AT

05030001 Fuse holder PCB 5x20mm , plast
05061020 Thermal pad board Ext.200 LED

05061021 Thermal pad SMPS Ext. 200 LED

05061022 Thermal pad PWR PCB Ext.200LED

05144077 Header 8-pin SIL dubbel

05220582 Spacer SMT 3mm thread 11mm hig

05741026 Fan 12V DC 40x40x20

05801006 BR1632A/FA Coin Cell 3V 125ºC

08050700 M3x6 ph torx tapt spike black

08050702 M3x6 ph torx black

08050703 M3x8 ph torx black

08050710 M3x5 ph torx tapt black

08053799 M3x6 stand off m3,7/f3,5 shiny

08053807 M3x10 stand off m6/f7 black

08070701 M4x10 ph torx tapt spike black

08070702 M4x6 ph torx tapt spike black

08070714 M4x30 bh torx black

08071208 M4x10 ch low allen A4 ds silve

08072701 M4 nut lock PA shiny

08074301 M4 washer 4,3/12x1 black

08074401 M4 washer lock 4,3/8 black

08092701 M5 Hex lock nut PA-insert

08111213 M6x25 ch allen A4 ds silver

08111312 M6x25 cs allen A4 ds silver

08111317 M6x20 cs allen A4 ds silver

08114301 M6 washer 6,4/12x1,6 black

08114319 Spacer,d6,D8,6x2 brass

08190107 2.9x13 C.rec. Selftap shiny

http://www.lightparts.com/


                 
 2507 HOWARD LANE, AUSTIN, TX 78728  
 WWW.LIGHTPARTS.COM 

08220103 3.2x8 Pop Rivet Black

08330115 PG9 Nut, Polyamid, Grey

11040525 Wire yellow/green 1x0,75# 11cm

11100514 WIRE Y/G AWG18 STYLE1015,150mm

11521021 Mains Cable 3x1,5# EU, 200CM

11700032 Wireset for DMX, Ext. 200 LED

11820026 XLR Cable CDMX2, 2m Y split

11850103 Wireset HighVolt, Ext. 200 LED

11850104 Wireset for SMPS, Ext. 200 LED

11860211 Wireset for Display,Ext.200LED

13102002 PG9 HSK Weather proof cable

16120050 Gasket, NBR, 28mm x 2mm

17780730 Spring for diffuser

18640010 LED window for Exterior 600

18640045 Plate for LED, Ext. 200 LED

19060130 Adaptor for bracket, Ext. 200

19060140 Brake disc, Ext. 200

19060150 Cover for adaptor, Ext. 200

19060160 Nut for adaptor, Ext. 200

20400000 Polyvent, POV/M12x1, grey

20600075 End Seal, Effect module

20600095 End Seal, Power module

23003380 Gable for frontglass, Ext 200

34240006 Plastic bag, 600x850

41600110 Narrow Angle Kit Ext.200LED

41600111 Medium Angle Kit Ext.200LED

41600112 Wide Angle Kit Exterior 200 LE

62006028 PCBA Mainsfilter

62009509 PCBA assm, Ext200LED main+cont

62090183 PCBA Ext. 200 LED+Light sensor

http://www.lightparts.com/


                 
 2507 HOWARD LANE, AUSTIN, TX 78728  
 WWW.LIGHTPARTS.COM 

62090187 PCBA, SSL, Controllerboard II

62400459 Steel wire Insulated

62400592 Frontgable assbl. Ext200LED

62400593 LED lens asm. Ext200LED

90545000 Ext.200 LED Alu EU Narrow incl

http://www.lightparts.com/

